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onClipEvent (load) {

speedx = 5,
speedy = 4,
pickup = 0;

]

onClipEvent (enterFrame) {
if (pickup = 1) {

x1 = x2;
yl = y2;
x2 = this. _x;
y2 = this._y:

speedx = (x2-x1);
speedy = (y2-y1);
} else {

if (this._x>600-this._width/2) {
this. _x = 600-this._width/2;
speedx = speedx*—1%0. 8;

]

if (this._x<0+this._width/2) {
this. _x = O+this._width/2;
speedx = speedx*-1*0_ 8§,

1

if (this._y>400-this. _width/2) {
this. _y = 400-this._width/2.;
speedy = speedy*-1x0. 8;

]

if (this._y<0+this._width/2) {
this. _y = O+this. _width/2;
speedy = speedy*-1%{. 8,

1

speedx = speedy*0. 99,

speedy = speedyxQ. 99+0. 98,

this. _x = this. _x+speedx:

this._y = this._y+speedy;



